
STEEL BRACKETS

1/2" X 3" (GALV.)

STOP RINGS

PVC SPLIT 

AND LOCK WASHERS

3/4" DIA. (GALV.)BOLTS 

STAY IN PLACE FORMS

3.0' 3.0'

1/2" X 3" (GALV.) STEEL SLEEVE

3"

FRP SQUARE TUBE

3" X 3" X 1/4" 3"

1/2" X 3" (GALV.) STEEL SLEEVE

STEEL BRACKETS

1/2" X 3" (GALV.)

6"

4'-6"

ON (AH)ANCHOR HANGER LOCATIONS

MEASURED IN THE FIELD BASED 

LATERAL BRACES LENTGHS TO BE 

(2)-1/2" x 3" (GALV.) STEEL 

COUPLINGS

WITH BACK TO BACK EXPANSION 

9-4" PVC CONDUITS, SCH. 40

WASHERS

STEEL RODS WITH TRI-LOCK NUTS AND FLAT 

(8)-3/4" DIA. x 16" (GALV.) ALL THREADED

TRI-LOCK NUTS AND FLAT WASHERS

 3/4" DIA. x 2" (GALV.) BOLT WITH 

TRI-LOCK NUTS AND FLAT WASHERS

 3/4" DIA. x 2" (GALV.) BOLT WITH 

WITH TRI-LOCK NUTS AND FLAT WASHERS

3/4" DIA. (GALV.) ALL THREADED STEEL RODS 

AND FLAT WASHERS

STEEL ROD WITH TRI-LOCK NUTS 

3/4" DIA. (GALV.) ALL THREADED 

AND FLAT WASHERS

BRACKETS WITH TRI-LOCK NUTS

1/2" X 3" (GALV.) STEEL 

FLAT WASHERS

STEEL RODS, TRI-LOCK NUTS AND 

3/4" DIA. (GALV.) ALL THREADED 

NO. NO.BY: BY:DATE: DATE:

REVISIONS SHEET NO.

TOTAL
SHEETS

STATE OF NORTH CAROLINA

RALEIGH

DEPARTMENT OF TRANSPORTATION

1
2

3

4

$
T
IM

E
$

$
F
IL

E
$

$
D

A
T

E
$

DOCUMENT NOT CONSIDERED FINAL

UNLESS ALL SIGNATURES COMPLETED

STATION:

COUNTY

PROJECT NO. U-5839

HAYWOOD

31+45.00 -L- POT

HINDE

 

BRIDGE DECK(GALV.) STEEL INSERTS

2"

5.0'

2"

ENGINEE
R

R
OF

ESSIO

N
A
L

N
ORT

H CAROL
IN

A

 

SEAL

23041

C
O

R
EY
 D. BOUS

Q

U
E
T

BRIDGE DECK

ANCHOR HANGER WITH STOP RINGS AND EXPANSION COUPLINGS (FRONT VIEW) DETAIL

ANCHOR HANGER WITH STOP RINGS AND EXPANSION COUPLINGS (SIDE VIEW) DETAIL

ENGINEERING

401 Harrison Oaks Blvd., Suite 220   Cary, NC 27513

License No. C-2639

SU-12

DocuSign Envelope ID: 6ECD41E9-EF56-4B86-BE50-02DC217058A6

3/9/2023


		2023-03-09T16:01:19-0800
	Digitally verifiable PDF exported from www.docusign.com




